

Kalapet, Pondicherry

Home

Mother Name: RAHMATH NISHA



Result Announced Date: 14/05/2025

Results

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0001

Name of the Student : ABDHUL RAHEEM S

Father Name: SHABIRULLA

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: ALVINMARY



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0002 Name of the Student : ABISHEK P

Father Name: PANNEER SELVAM

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

SI. No.

1

2

3

5

6

PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

Results

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0003

Name of the Student: ABUBACKER SITHICK M

Th

Pr

Th.

Th.

Th.

Th.

Th.

Th.

Father Name: MOHAMED IBRAHIM

BASIC BOTANY (MLD01)

DATA STRUCTURES (MJD04)

SYSTEM SOFTWARE (MID03)

3D MODELLING & ANIMATION

Mother Name : SYEDALI FATHIMA									
Credit Hours	Grade Point	Credit Point	Grade						
3	000	000	F						
4	6.00	24.00	В						
4	7.00	28.00	B+						
4	6.00	24.00	В						
2	5.00	10.00	С						

8.00

24.00

Α

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

ENGLISH-II

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

Subject Name

OBJECT ORIENTED PROGRAMMING (MJD03)

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0004

Name of the Student : AJITH KUMAR S

Father Name: SELVAMANI **Mother Name: MALAR**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	7.00	21.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0005 Name of the Student : ARTHI V

Father Name: VADIVEL **Mother Name: CHITRA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	8.00	32.00	A
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0006 Name of the Student : BAHITH N

Father Name: NASAR ALI **Mother Name: DILSHATH BANU**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0007

Name of the Student : BALAMURUGAN M

Father Name: MARIYAPPAN Mother Name: KALAVATHI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	7.00	21.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: NARKIS BANU



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0008

Name of the Student : BASHEER MOHAMED A

Father Name: AHMED MARAICAR

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	7.00	28.00	B+
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



PONDICHERRY UNIVERSITY Kalapet, Pondicherry

Home



Results

Invalid Register number / No Results found

Kalapet, Pondicherry

Home

Mother Name: NAGAVALLI



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0010

Name of the Student : DHANASEKAR J

Father Name: JEYACHANDRAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	7.00	28.00	B+
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Mother Name: KOWSALYA G



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0011

Name of the Student : DHEVADHARSHINI G

Father Name: GOPALAKRISHNAN K

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	АВ
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	000	000	AB Fail
3	DATA STRUCTURES (MJD04)	Th.	4	000	000	AB Fail
4	SYSTEM SOFTWARE (MID03)	Th.	4	000	000	AB Fail
5	ENGLISH-II	Th.	2	000	000	АВ
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0012

Name of the Student : DHINATHAYALAN A

Father Name: ANANDAVEL **Mother Name: SIVARANI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	7.00	28.00	B+
4	SYSTEM SOFTWARE (MID03)	Th.	4	7.00	28.00	B+
5	ENGLISH-II	Th.	2	6.00	12.00	В
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	Α

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: PANKAJAVALLI



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0013

Name of the Student : DILIPKUMAR S

Father Name: SUBRAMANIAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	7.00	28.00	В+
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0014

Name of the Student : GOKULNATH G

Father Name : GOPALAKRISHNAN **Mother Name: JANAKI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	7.00	21.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: MEENA D



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0015

Name of the Student : HARIHARARAJA D

Father Name: DEIVASIGAMANI G

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: CAROLINE



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0016

Name of the Student : HARIPRASAD K

Father Name: KANTHA MOORTHI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	Α

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0017

Name of the Student : HARIPRASATH V

Father Name: VEERAN V Mother Name: MALARVIZHI V

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: RAJALAKSHMI



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0018

Name of the Student : HEMACHANDRAN V

Father Name: VIJAYAKUMAR

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: ELIZABETH



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0019 Name of the Student : IMANUVEL S

Father Name: SELVANATHAN

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: KRISHNAVENI K



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0020 Name of the Student : JANSI K

Father Name: KALAISELVAN V

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	5.00	20.00	С
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	4.00	8.00	Р
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



PONDICHERRY UNIVERSITY Kalapet, Pondicherry

Home



Results

Invalid Register number / No Results found



PONDICHERRY UNIVERSITY Kalapet, Pondicherry

Home



Results

Invalid Register number / No Results found

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0023 Name of the Student : KARTHIKA R

Father Name: RAMU **Mother Name: VASANTHA KUMARI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	4.00	12.00	Р
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0024 Name of the Student : KEERTHISRI K

Father Name: KANNAN **Mother Name: JAYANTHI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	7.00	28.00	B+
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	4.00	8.00	Р
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0025 Name of the Student : KIRUTHIGA D

Father Name: DHAYANITHI S Mother Name: RAJESHWARI D

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	8.00	32.00	A
3	DATA STRUCTURES (MJD04)	Th.	4	7.00	28.00	B+
4	SYSTEM SOFTWARE (MID03)	Th.	4	7.00	28.00	B+
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0026

Name of the Student : MATHI BHAIRAVI T

Father Name: THANGAM **Mother Name: SELVI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: MUNEERA BANU



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0027

Name of the Student : MOHAMED FAISAL N

Father Name: NOUROUL AMIN

I		ı	ı	I	I	1 1
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	7.00	28.00	B+
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	4.00	8.00	Р
6	3D MODELLING & ANIMATION	Th.	3	7.00	21.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0028

Name of the Student: MOHAMED MUSHARAFF M

Father Name: MOHAMED IQBAL A

Mother Name: BARAKKATH BEEVI M

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0029

Name of the Student : MOHAMMED ARIF A

Father Name: ABDUL HAMEED

Mother Name: SALMA NAATCHIYAL

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	7.00	28.00	B+
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0030

Name of the Student: MOHAMMED MUSHRAF A

Father Name: ASRAF ALI **Mother Name: ISAFARWIN**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	8.00	32.00	A
3	DATA STRUCTURES (MJD04)	Th.	4	7.00	28.00	B+
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0031

Name of the Student: NISHAR AHMED F

Father Name: FAZUL HAQ **Mother Name: SHAKILA BANU**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	4.00	16.00	Р
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0032 Name of the Student : OOVIYA K

Father Name: KUMAR **Mother Name: KOWSALYA**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: MALATHI



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0033

Name of the Student : PRAVINNA VALLI R

Father Name: RAVICHANDIRAN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0034

Name of the Student : PRITHIVIRAJ D

Father Name: DEVADHASS Mother Name: AGILANDESWARI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	АВ
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	4.00	16.00	Р
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	000	000	AB Fail
5	ENGLISH-II	Th.	2	000	000	АВ
6	3D MODELLING & ANIMATION	Th.	3	5.00	15.00	С

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: TAMIL VANI



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0035

Name of the Student : RAGADEEPA V

Father Name: VEERAMANY ALIAS VEERASAMY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A +

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0036 Name of the Student : RAGESH S

Father Name: SHANKAR K Mother Name: LAKSHMIS

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	000	000	AB Fail
3	DATA STRUCTURES (MJD04)	Th.	4	4.00	16.00	Р
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0037 Name of the Student : RAGUBALAN R

Mother Name: SUDHA Father Name: RAJKUMAR

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	5.00	20.00	С
3	DATA STRUCTURES (MJD04)	Th.	4	4.00	16.00	Р
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: NAGESHWARI S



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0038 Name of the Student : RAJESH S

Father Name: SUBRAMANIYAN S

I	I	I	I	I	I	1 1
SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	4.00	16.00	Р
3	DATA STRUCTURES (MJD04)	Th.	4	4.00	16.00	Р
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: SATHYA



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0039

Name of the Student : RANJITH KUMAR G

Father Name: GANESAMOORTHY

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	АВ
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	5.00	20.00	С
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	7.00	21.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home

Mother Name: KAVITHA



Result Announced Date: 14/05/2025

Results

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0040

Name of the Student: SANTHOSH M Father Name: MANIVANNAN

Credit Th Grade Credit SI. No. **Subject Name** Grade Pr Hours Point Point 1 BASIC BOTANY (MLD01) Th. 3 5.00 15.00 С 2 OBJECT ORIENTED PROGRAMMING (MJD03) Th. 5.00 20.00 С 3 DATA STRUCTURES (MJD04) В Th. 4 6.00 24.00 SYSTEM SOFTWARE (MID03) 16.00 Р Th. 4.00 ENGLISH-II С 5 2 Th. 5.00 10.00 6 3D MODELLING & ANIMATION Th. 7.00 21.00

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0041 Name of the Student : SARANRAJ R

Father Name: RAVI KUMAR **Mother Name: SARASWATHI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0042

Name of the Student : SELVAGANESH K

Father Name: KALIDOSS **Mother Name: SENTHAMARI**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	000	000	AB Fail
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0043

Name of the Student : SHAMEER SATHICK R

Father Name: RAJA MOHAMED

Mother Name: MUTHU FARVEEN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	7.00	28.00	B+
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	6.00	12.00	В
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0044 Name of the Student : SRI DEVI S

Father Name: SUDHAKAR Mother Name: SUNDARESWARI

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	8.00	32.00	A
3	DATA STRUCTURES (MJD04)	Th.	4	7.00	28.00	B+
4	SYSTEM SOFTWARE (MID03)	Th.	4	7.00	28.00	B+
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0045 Name of the Student : SUBASHINI S

Father Name: SANKAR Mother Name: MANGALAM

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	8.00	24.00	Α
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	9.00	36.00	A+
3	DATA STRUCTURES (MJD04)	Th.	4	9.00	36.00	A+
4	SYSTEM SOFTWARE (MID03)	Th.	4	8.00	32.00	A
5	ENGLISH-II	Th.	2	6.00	12.00	В
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0046

Name of the Student: SUNDARAMOORTHY

Father Name: RAMALINGAM **Mother Name: SANTHI**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	8.00	32.00	A
3	DATA STRUCTURES (MJD04)	Th.	4	8.00	32.00	A
4	SYSTEM SOFTWARE (MID03)	Th.	4	7.00	28.00	B+
5	ENGLISH-II	Th.	2	6.00	12.00	В
6	3D MODELLING & ANIMATION	Th.	3	10.00	30.00	0

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0047 Name of the Student : SUSINTHER S

Father Name: SIVAKUMAR **Mother Name: SUMATHY**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	9.00	36.00	A+
3	DATA STRUCTURES (MJD04)	Th.	4	9.00	36.00	A+
4	SYSTEM SOFTWARE (MID03)	Th.	4	8.00	32.00	A
5	ENGLISH-II	Th.	2	6.00	12.00	В
6	3D MODELLING & ANIMATION	Th.	3	10.00	30.00	0

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0048 Name of the Student : SWETHA M

Father Name: MANOHARAN Mother Name: SUMATHI

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0049

Name of the Student: THUSHYANTHAN S

Mother Name: PUSHPA Father Name: SEKAR

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	5.00	20.00	С
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	7.00	21.00	B+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0050 Name of the Student : UMAIRA

Father Name: BASHEER AHAMED S

Mother Name: RAHEEMA BEGUM A

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	6.00	18.00	В
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	8.00	32.00	A
3	DATA STRUCTURES (MJD04)	Th.	4	8.00	32.00	Α
4	SYSTEM SOFTWARE (MID03)	Th.	4	7.00	28.00	B+
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0051 Name of the Student: VASIMA B

Father Name: BAVA BAHURUDEEN

Mother Name: SITHI HASINA PARVEEN

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A +

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0052

Name of the Student: VEERASELVAM S

Father Name: SELVAMANI **Mother Name: DHANAVALLI**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	6.00	24.00	В
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	4.00	8.00	Р
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0053

Name of the Student : VISHNUPRIYA S

Father Name: SANKAR Mother Name: MANGALAM

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	8.00	32.00	A
3	DATA STRUCTURES (MJD04)	Th.	4	7.00	28.00	B+
4	SYSTEM SOFTWARE (MID03)	Th.	4	6.00	24.00	В
5	ENGLISH-II	Th.	2	5.00	10.00	С
6	3D MODELLING & ANIMATION	Th.	3	9.00	27.00	A+

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0054 Name of the Student: VISWAM S

Father Name: SUBRAMANIAN **Mother Name: SANTHI**

SI. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	000	000	F
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	6.00	24.00	В
3	DATA STRUCTURES (MJD04)	Th.	4	4.00	16.00	Р
4	SYSTEM SOFTWARE (MID03)	Th.	4	4.00	16.00	Р
5	ENGLISH-II	Th.	2	000	000	F
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	Α

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Kalapet, Pondicherry

Home



Result Announced Date: 14/05/2025

III Semester B.Sc. Computer Science JANUARY 2025 Examinations

Reg. No.: 23CS0055 Name of the Student : YAKOB S

Father Name: SENTHIL **Mother Name: ALICE MARY**

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	BASIC BOTANY (MLD01)	Th.	3	5.00	15.00	С
2	OBJECT ORIENTED PROGRAMMING (MJD03)	Th.	4	5.00	20.00	С
3	DATA STRUCTURES (MJD04)	Th.	4	5.00	20.00	С
4	SYSTEM SOFTWARE (MID03)	Th.	4	5.00	20.00	С
5	ENGLISH-II	Th.	2	4.00	8.00	Р
6	3D MODELLING & ANIMATION	Th.	3	8.00	24.00	A

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.